r'V

VALVES,ACTUATORS AND CONTROL SYSTEMS

MOD. DA 85

VAR o i 200050
i = BODA14-03-SERIE-21.5D




VALVES ACTUATORS AND CONTROL SYSTEMS

FBU Z8Ei&] (DN40-1200)

FBU A 2R
N AR 4T ERTRR R, ER A TSR E TR ERITI AHIKE RS
3=, (DN40-800 ) B E (DN40-800) ZFLXE= (DN200-1200)

R LE

NRES 10/16bar

EREE ANSI cl.150 JIS 5K/10K DIN PN1.0/PN1.6

mEEE W AFEPDMAT-20°CEL10°C , IRIEMAIARRE , ZAREBER-40°CE220°C
Fimixr= ISO 5211

MR AR EN 12266-1/API598

& E I ISO 5208 DIN 3230; ZEHMMIAL.1xPN; @ IiiH1.5xPN
FEEBHMR B/ R EW/ e REREMF AR

ETEIN

8 4%

B
3

R
E&=
FEETN
i
(53]
i
R
EERE

N o vl AW N



r-v

VALVES ACTUATORS AND CONTROLSYSTENS.

FBU thZ:iRi% ( DN40-1200)

N N A S 2 T O

210 650 1050 1770 3400 5090 7360 9800 12900 16800 21700 29800 35100 45900

DN40-800 ------

DNO040
DNO050 135 65.5 43 11 10
DNO065 150 755 46 11 10
DNO080 160 89.5 46 11 10
DN100 180 104 52 11 12
DN125 200 125 56 14 14
DN150 220 142 56 14 14
DN200 250 173.5 60 17 17
DN250 300 208 68 22 22
) DN300 320 235 78 22 24
DN350 358 270 78 22 24
DN400 400 316 102/88 22 27
DN450 422 341 114/107 27 27
DN500 480 373 127 27 32
DN600 562 459 154 27 36

ST ------

DN40'6OO DNO040

DNO050 135 65.5 43 11 10
DNO065 150 75.5 46 11 10
DNO080 160 89.5 46 11 10
DN100 180 104 52 11 12
DN125 200 125 56 14 14
DN150 220 142 56 14 14
DN200 250 173.5 60 17 17
DN250 300 208 68 22 22
DN300 320 235 78 22 24
DN350 358 270 78 22 24
DN400 400 316 102/88 22 27
DN450 422 341 114/107 27 27
DN500 480 373 127 27 32
DN600 562 459 154 27 36
DN200
DN250 282 208 68 40 22
DN300 326 244 78 40 24
DN350 358 270 78 40 24
DN400 400 316 102/88 52 27
DN450 422 341 114/107 52 27
DN500 480 373 127 64 32

- DN600 562 459 154 70 36
DN700 624 528 165 82 o
DN750 660 560 165 82 -
DN800 672 600 190 82 @
DN900 720 659 203 130 =
DN1000 800 726 216 130 =
DN1200 951 868 254 150 -




VALVES ACTUATORS AND CONTROLSYSTENS.

FBU thZ:iRi% ( DN40-1200)

.. FBU 080 W 1 E 01 A 16
ARl RWiER 5 5 55 o o

@
@ ra FBU PR LG4 R
BR DN40-1200
w X F2 4 B DN40-800
Q@ EZEIRE L BRI DN40-800
U ZAJE= DN200-1200
1 BR#£GGG40,DIN1693
. 2 AEENCF8M,ASTMA351
@ BEHER 3 AREENCF8,ASTMA351
S* SR AT ik
E =TZ A% EPDM -20°C~+130°C
P RIE )% PTFE -40°C~+180°C
B R N T BEHREX NBR -25°C~+90°C
v SR VITON -20°C~+210°C
S FERE SILICONE -40°C~+220°C
01 BN CF8M 316
02 TEESNCF8 304
03 BRERIE R
® MR R 04 BK#garRr
05 AEENCF8M + PTFERS &
06 i
S =37 b
@ T A§E4M1.4028 , AISI420
B BENWCB,ASTMA216
EH 16 16bar
10 10bar



FBUV/FUHV D4 &/Fah4EE (DN10-150)

ssssssssssssssssssssssssssssss

Sz PR <5

R

RIRED
BRI
BEEE
XIRE=
MR
BE
FERPAR

ERTER I ERS M THFERR TR EZRTILLHKERS
8% =R=R 1By

0~10bar

232 : DIN 11850-25 11850-1/ SMS / 3A / ISOZ% X7
WEIEPDMAT-20°CE135°C , IRIEMRIAR , RRRESEEAS-50°CE230°C
1SO 5211

EN 12266-1/API598

ISO 5208 DIN 3230; Z&MMR1.1xPN; M@ 1. 5xPN
REEMCF8/CF3M

.

1 FHRBK 9 fEA

2 NS 10 2

3 9247 11 12457

4 fiEsEsL 12 BRI

5 BEs 13 wE

6 ShE 14 AR

7 RIHF 15 EHE

8 wE

F-Y 4



r-v

VALVES ACTUATORS AND CONTROLSYSTENS.

FBUV/FUHV D4 &/Fah4EE (DN10-150)

V& VR
________

FBUAO10B1E 10x10

FBUAO15B1E 15 87 18 10x10 50 136 {85
FBUAO20B1E 20 87 22 10x10 50 136 {85
FBUAO25B1E 25 87 28 10x10 50 136 15
FBUAO32B1E 32 92 34 10x10 50 136 15
FBUAO40B1E 40 97 40 10x10 50 136 15
FBUAOS0B1E 50 110 52 10x10 52 136 1.5
FBUAO65B1E 65 127 70 10x10 56 136 2.0
FBUAO8OBLE 80 142 85 10x10 58 163 2.0
FBUA100B1E 100 162 104 10x10 64 163 2.0
FBUA125B1E 125 190 129 14x14 75 185 2.0
FBUA150B1E 150 225 154 14x14 80 185 2.0

=R =VIRiE
________

FBUAO10S1E 10x10

FBUAO15S1E 15 78 18 10x10 100 136 15
FBUA020S1E 20 78 22 10x10 100 136 15
FBUA025S1E 25 78 28 10x10 100 136 {85
FBUA032S1E 32 86 34 10x10 100 136 {85
FBUA0O40S1E 40 90 40 10x10 100 136 85
FBUAOS50S1E 50 106 52 10x10 102 136 15
FBUAO65S1E 65 124 70 10x10 106 136 2.0
FBUAO8OS1E 80 139 85 10x10 108 163 2.0
FBUA100S1E 100 159 104 10x10 114 163 2.0
FBUA125S1E 125 185 129 14x14 125 185 2.0
FBUAL150S1E 150 225 154 14x14 130 185 2.0

______

FBUAO1O0T1E RD28x1/8 10x10

FBUAO15T1E 15 78 RD34x1/8 10x10 66 136
FBUA020T1E 20 78 RD44x1/6 10x10 66 136
FBUAO25T1E 25 78 RD52x1/6 10x10 66 136
FBUAO32T1E 32 86 RD58x1/6 10x10 66 136
FBUAO40T1E 40 90 RD65x1/6 10x10 70 136
FBUAOS0T1E 50 106 RD78x1/6 10x10 76 136
FBUAO65T1E 65 124 RD95x1/6 10x10 80 136
FBUAOSOT1E 80 139 RD110x1/4 10x10 84 163
FBUAL1O00T1E 100 159 RD130x1/4 10x10 104 163
FBUA125T1E 125 185 RD160x1/4 14x14 130 185
FBUA150T1E 150 225 RD190x1/4 14x14 150 185

FEzUER R
_______

FBUAOLOCLE 25.2 10x10
FBUAOL5CLE 15 78 e 10x10 66 136
FBUAO20CLE 20 78 s 10x10 66 136
FBUAO25CLE 25 78 10x10 66 136
FBUA032C1E 32 86 S 10x10 66 136
FBUAO40CLE 40 90 64 10x10 70 136
FBUAO50CLE 50 106 775 10x10 76 136
FBUAO65CLE 65 124 o 10x10 80 136
FBUAOBOCLE 80 139 10x10 84 163
FBUAL0OCLE 100 159 106 10x10 104 163
FBUA125CLE 125 185 119 14x14 130 185
FBUAL50CLE 150 225 168 14x14 150 185




ssssssssssssssssssssssssssssss

FBUV/FUHV D4 &/Fah4EE (DN10-150)

o oo FBUV 080 T 1 E 01
T (RS > > 3 e @

@ @R DNO010-150
T 124y
TN B 25z
Q EERE 2 .
S =R
. 1 CF8 304
@ BEHR 2 CF3M 316L
E =5tZA EPDM
O BHMR v EgRE VMQ
F SR FPM
_ 01 =
® FEE
02 RS0 =

L3RBT/ ENIERI LU E

iP' Pa) o 26 38 51635 761 1018 i Nwgs 32 40 50 85 80 100 125
4o 2 -
£ - i . el
4 A4 F 160

1§ 7 ; mmm : g
0 : ;
e [
4 4
3 3

Ljs YR R e R TR T 5= P L= W 6 s = 5 Sogs = S 5385.E

= E sz 3 $EEEE = B sasmesy g 5t

B s E E

a o

i WA E R EIENNEET:
R 7KEKE20°0)
ME: FACDI2173

R EIR

i

i

HREY =k

Vel 4 6



ssssssssssssssssssssssssssssss

FBX S1EAEN w4 #B(DN50-800)

FBX
N7 A Ymia ERTAEBC I SAEII B NKETI
X33 (FBXW) B3 (FBXL)

R LE

TG PTFE + 25 %35 135 £F 4 () KB
PoE Sprirs e IN £REREE

TI  BAKHERIRE
Fimik= ISO 5211
NWRES 10/16/25/40/50bar
T ANSI cl.150/cl.300 DIN PN10/16/25/40/50
REBE TG/TI(-50°CZE200°C) IN(-50°CZE500°C)
R EE ISO 5208 DIN 3230; ZEH4EMI{1.1xPN; MM 72iE1.5%PN

X {m/CME A .

FBXRFIZNmOERE. SRR RIT=4%
M RE R OZ% (B 1)
T RERERPOZE (B 2)
XEEFRIE Y , 24K/ JFTFRT | RN S IR EEZRNSS
20, FHRIEERINAEEERIRTEEN.

B Kig it

L EEBTERMT , PTFEREREREZ MY |
2. ERIRET , EPTFEMEHIRERS | @/EIREE
BREAZ M.




ssssssssssssssssssssssssssssss

FBX =SMaeX R/ L ¥ E(DN50-800)

ST FBXW 050 A 1 TG 2
©) @ ® o ® ®

@ ER DN50-800
A M WCB
- B 54N CF8M 316
© AR c 454 CF8 304
S* L= =l pui
1 16bar
2 25bar
@ ITIEEN B p—
50bar
TG PTFERE_E25%a0IIEsT 4
® ZHM R IN E
TI Bk
1 s WCB
. $EW CF8M 316
CLIHE 3 R$E4N CF8 304
S* L2271 prin
N=|
bar bar

~

50 | cl300 = 50
\\\\TG LI IN
40 | PN 40

| |
\
N\ | | |
30 30 ‘ | |
PN40+cl300

25 | PN25 e 25 | pN25 = ‘ —

20 | cl150 = 20 | cl150 = ‘ = 1 | |

16 |-PN16 16 | PN16 = -

0 L
| | |

2
(-]

\ 10 [ PN10

10 | PN
=0 | —
-100 29 0 100 200 300°C -100 29 0 100 200 300 400 500 °'C
B
bar bar
50
IN
40
30 . 1 ! 1 1
2% PN40+cl30
sy —
16 pN16—_\\ | \
\
10 (PN (e [ —
-100 -50 0 100 200 300°C -100 -50 0 100 200 300 400 500 'C

v | 8



r-v

VALVES ACTUATORS AND CONTROLSYSTENS.

FBX =SMaeX R/ L ¥ E(DN50-800)

RJ

FBX DN50-125

FBXW FBXL

m | *Ili 7
1z
- C
4x @y | @b
) 1ISO 5211
<2,
G
=R EIEE
M+ TEE , 1.4021 B | 1.4462
3] TEEN , 1.4408 TEEN , 1.4408 STEE
PTFE 25%GF
25%GF INCONEL INCONEL

T @y CFBXW FBXL
DN d 42 A B C DI D3 sl 2 sl s E 6 108211y b (ko) (kg
050 48 68 163 93 44 105 154 12 32 0 41 19 14 FO7

9 70 5.3 75
065 64 82 170 100 47 125 178 47 58 38 63 19 14 FO7 9 70 6 9.2
080 80 100 174 106 47 140 196 64 68 55 73 19 14 FO7 9 70 7 10.3
100 101 123 206 123 53 163 225 84 88 77 93 19 14 FO7 9 70 8.7 12.4
125 121 146 215 137 57 193 260 112 117 105 121 19 14 FO7 9 70 12 16.7




r-v

VALVES ACTUATORS AND CONTROLSYSTENS.

FBX &MREX R/ 4R iE(DN50-800)

FBX DN150-800

O Qy ! @b
@ I1SO 5211

© ©

H#x

=HE S
R BLO625/A216WCB BiIL4408/A315CFEM S T6 Ti(Ek) N

A+ FEEN , 1.4021 B | 1.4462
3] FEEIN , 1.4408 K5 , 1.4408 STEE

PTFE 25%GF

25%GF INCONEL INCONEL

e Ny FBXW FBXL
DN dl d A B C DL D3 sL 2 sl 2 E G 05211y b (ka) (ko)
150 146 155 317 214 56 253 318 =7 143 134 146 25 17 F10 21 28

4x11 102

200 194 204 349 246 60 300 381 189 194 186 196 25) 17 F10 4x11 102 29 41

250 241.5 258.5 395 275 69 348 450 222 235 217 234 31 22 F12 4x13 123 46 70

300 289 309 460 213 79 393 521 268 284 262 282 31 27 F14 4x17 140 67 105
350 323 342 508 355 92 448 577 290 308 292 313 45 27 Fl16 4x21 165 91 140
400 385 405 402 103 542 657 341 360 353 377 58 36 F16 4x21 165 132 211
450 414 436.5 EER 411 114 594 670 375 396 378 405 37 36 F16 4x21 165 183 275
500 464 487 = 449 127 658 730 418 441 423 451 47 46 F25 8x17 254 241 356
600 553 581 698 527 154 760 845 495 529 499 541 100 100 F30 8x21 298 369 547
700 645 683 813 591 165 869 960 586 618 590 630 ALl ALl F30 8x21 298 501 756
800 769 796 869 647 190 976 1085 688 731 692 735 iLiLiL iLiLiL F30 8x21 298 653 1000




ssssssssssssssssssssssssssssss

DA/SR SzhifiTas

F-V i@ S a1 Ta5ATEEIDN40-400

DAO063FO5F07/14A

SRO75F05F07/17A

50 DAO063FO5F07/14A SRO75F05F07/17A
65 DAO063F05F07/14A SRO75F05F07/17A
80 DAO75F05F07/14A SRO85F05F07/17A
100 DAO85F05F07/17A SR100F07F10/17A
125 DAO85F05F07/17A SR100F07F10/17A
150 DA100F07F10/17A SR125F07F10/22A
200 DA125F07F10/22A SR160F10F12/27A
250 DA125F07F10/22A SR160F10F12/27A
300 DA160F10F12/27A SR200F12F14/36A
350 DA160F10F12/27A SR200F12F14/36A
400 DA200F12F14/36A SR300F14F16/46A

XUERB AT AR

DA032 3.5 4.2 6 7.5 8 9 10 11.5
DA052 9 11 14.5 18.3 20.2 22.1 25.9 29.8
DA063 15.6 19.1 25.9 32.8 36.2 39.6 46.5 53.3
L 22 el 47.5 59.8 66 72.2 84.5 96.9
DAUE 13 S04 68.6 86.7 95.8 104.9 123 141.2
DA100 66 :

108 136.3 150.4 164.6 192.8 221.1
DA115 109 79.8

178.9 2256 248.9 272.3 319 365.7
DA125 143.5 132.2

235.3 296.6 327.3 358 4193 480.6
DA140 300 e
S e 480 600 660 720 840 960
SYGED 35 oY 900 1125 1237 1350 1575 1800
DA240 879 1150 1540 1930 2130 2330 2708 3090
DA300 1562 1780 3052 3816 4198 4578 5341 6105
DA350 2572 3428 4570 5716 6286 6856 7998 9140

X BERRITERISE HARERER).




r-v

VALVES ACTUATORS AND CONTROLSYSTENS.

DA/SR SapfiiTas

ZH

o __--------

w 25 225 45

wy

DA52-160

FO3-FO5 1395 71 41 695 895 122
063 F05-F07 162 80.5 355 45 80.5 1005 12.2 14 44
075 F05-F07 207 945 42 525 | 7 117 182 17 63
085 FO5-FO7 237.5 106 47.5 585 1085 1285 182 17 63
100 FO7-F10 2715 123 55 68 1215 1415 20 17 63
115 FO7-F10 328 137 64 73 1415 1715 32 22 86
125 FO7-F10 336 148 68 80 153.5 1835 32 22 86
140 FO7-F10 431.7 164 77 87 175 205 35 27 88
160 F10-F12 522 187 87 100 193 223 404 27 =

DA180-350

__--------
180 F10-F14 2125 96.5 116 279
210 F14 601 2425 1115 131 280 310 36 60
240 Fl16 602 256 118 138 320 350 46 60
300 F16 738 356 1785 177.5 383 413 46 60
350 F16-F25 940 415 202 213 434 464 55 60

[ISO 5211

102 125 140

i SHEIRELLESIER P ER

12



FOA/FTA BziiniTes

F-V ERHEREB A1 TERAYIREIDN40-400

BRAS

| -

HNRT

i
B |
* A.‘

50

65

80
100
125
150
200
250
300
350
400

N

N
10

L

FOAOO5F05F07/14A
FOAOO5FO05F07/14A
FOAOO5FO5F07/14A
FOAOO5FO05F07/14A
FOAOO8FO5F07/17A
FOAOO8FO5F07/17A
FOAO010FO5F07/17A
FOAO015F05F07/17A
FOAO020FO05F07/17A
FOAO30F07F10/17A
FOAO040F07F10/17A
FOAO060F07F10/27A

AAAAAAAAAAAAAAAAA

FTAOO5FO05F07/14A
FTAOO5FO05F07/14A
FTAOO5FO5F07/14A
FTAOO5FO5F07/14A
FTAOO8FO5F07/17A
FTAOO8FO5F07/17A
FTAO10FO5F07/17A
FTAO15F05F07/17A
FTAO20FO5F07/17A
FTAO30F07F10/17A
FTAO40F07F10/17A
FTAO60F07F10/27A

-
iR
| ]

_
‘ =

sssssssssss

003 30 9%9 11*11 8 0.15 21 123 74 113 -
005 50 30 11*11 14*14 10 0.25 36 160 89 121 40 114 105
008 30 30 11*11 14*14 10 0.25 36 160 89 121 40 114 105
010 100 30 14*14 17*17 15 035 4.6 189 107 129 40 114 105
015 150 30 14*14 17*17 15 0.37 4.6 189 107 = 129 40 114 105
020 o 30 22%22 45 03 13 266 152 119 106 164 40 114 105
030 200 30 22+22 45 031 13.4 266 152 119 106 164 40 114 105
040 30 22+22 60 033 138 266 152 119 106 164 40 114 105
060 0 30 27*27 20 0.33 14 266 152 119 106 164 40 114 105
080 oy 40 27%27 180 0.47 143 266 152 119 106 164 40 114 105
100 1000 40 27%27 180 0.47 60 266 152 119 106 164 40 114 105
160 1600 120 Max 65 180 0.85 60 268 152 119 106 164 40 144 105
200 2000 120 Max65 180 0.85 60 268 152 119 106 164 40 114 105
300 3000 120 Max65 180 0.85 60 268 152 119 106 164 40 114 105

*PETENRY
13 =Y




r-vy

VALVES ACTUATORS AND CONTROLSYSTENS.

FHL % FHW iz FDG Fi FSW Fi¢

BRRT BS A HS B (@ F H RAHE
DN040-DN080 FHL1 210 14-19 8/9/11/14/17 M6/M8 50/70 10 45
DN100-DN150 FHL2 340 23-28 14/17/22 M8/M10 70/102 12 85

B H D

RERY

DNO040-DN150
DN200-DN300
DN250-DN350
DN350-DN400
DN400-DN450
DN450-DN500
DN600-DN650

BS
FHW1
FHW2
FHW3
FHW4
FHWS5
FHW6
FHW7

1:40
1:36
1:36
1:50
1:39
1:55
1:52

180

540

675
1310
1790
3250
5500

Bt &AME 1505211

AxA

FO5,F07 8x8,9x9,11x11,14x14,17x17

F07,F10
F10,F12
F10,F12,F1

4
F10,F12,F1
4
F16
F16,F25

17x17,19x19,22x22
17x17,19x19,22x22
22x22,27x27
22x22,27%27,950x14
36x36,050x14
D60x18,065x20,080x22

#1150 5211 E=ERIRF12f0F LAREEH T | FLARIF16REEHT , REgsHE—,

Deep B
45 160
53 215
65 225
80 325
90 375
100 395
120 416

80
120
142
175
185
230
265

42
60
60
e
81
104.5
130

78
117
138
174
175
220
286

48
56
69
83
95
105
125

(%
140
250
300
400
600
600
700

@D1 MxRE
50/70  4-M6x10/4-M8x12
70/102  4-M8x12/4-M10x15
102/125 4-M8x12/4-M12x18

140 4-M16x24

140 4-M16x24

165 4-M20x30

165/254 4-M20x30/8-M16x24

b
<

aD2
30
43
43
54
50
65
80

14



r-vy

VALVES ACTUATORS AND CONTROLSYSTENS.

FHL =% FHW jzi¢ FDG Fi FSW Fi

FDG(DN40-500)

< 75 ,f \% ,E, | e |
/
®\//®®@ —— |
L j H1
A H H2 G
ERY BHE M SAHE 1505211 A B C E F IxRE K H2 G H H1 L M @S
DNO040-DN150 FDGO50 1:40 300 FO5,F07 70 125 110 442 54 11x12/14x16/17%x19 11/14/17 11/14/17 90 100 33 143 104 200
DN200-DN300 FDG070 1:38 360 F07,F10 95 150 135 522 70 14x16/17x19/19x21 14/17/19 14/17/19 125 118 43 177 124 200
DN250-DN350 FDG102 1:36 810 F10,F12 115 185 160 65 70 22x24/27x29 22/27 22/27 140 124 45 190 140 300
DN350-DN400 FDG140 1:50 1310 F10,F12,F14 140 225 200 85 78 27x%29/36x39 27/36 27/36 185 162 56 325 180 400
DN400-DN450 FDG165 1:55 2800 F14,F16 165 268 243 104.5 105 36%39 36/46 36/46 230 181 58 395 214 600
DN450-DN500 FDG254 1:52 5500 F16,F25 275 330 283 130 115 D60x70 46 46 265 205 58 400 230 700

FIEISO 5211 A= ERIRF 1 2FIF1AREEF 17 , FLARIFLORREF 7 | REEiEE—.

FSW(DN40-650)

\
U
—

BV
BERYT =) A 1505211 HAHHE AxA B C D E FL ML F2 M2 K L HI ~ H2 S

DN040-DN150 FSW070 8/9/11/14/17 F05,F07 180 8x8,9x9,11x11,14x14,17x17 160 115 80 42 70 M8 50 8 25 50 20 48 140
DN040-DN200 FSW090 8/9/11/14/17 F(Q7,F09 300 8x8,9x9,11x11,14x14,17x17 160 130 100 50 90 M8 70 M8 30 80 20 54 200
DN200-DN300 FSW102 17/18/22  FQ07,F10 540 17x17,19x19,22x22 215 150 120 60 102  M10 70 M8 30 80 20 56 250
DN250-DN350 FSW125 19/22 F10,F12 675 19x19,22x22 225 180 140 60 125 M12 102 MI10 30 80 20 69 300
DN350-DN400 FSW140 22/27 F0F12F14 1310 22x22,27%27 325 215 178 775 140 M16 = = 30 130 20 95 300
DN450-DN500 FSW165 36/050x14  F14,F16 3250 36x36,050x14 395 268 230 1045 165 M20 - - 30 130 20 105 300
DN600-DN650 FSW250  os0x18/@65x20 F16,F25 5500 D60x18,065%x20,080x22 416 332 265 130  165/254 M20/M16  — = 30 130 20 125 300

FiE1SO 5211 EZIERIRFL2MIF LAREEHTF | FLAMIFLOREEHTE | REEEE—,



FAP-2N/4N [B{F=%

FAP

2 10

T AR

FAP [El{585

2 =iE

4 Yags
HUAFF %

OF 79
@18

10 2-SPDT
11 3-SPDT
e 12 -
O T e
13 2-SPDT
14 2-SPDT
15 2-SPDT+EE (it
16 2-SPDT+{55(4-20mA)
R~
112mm N
FAP-2N E
FAP-4N :

LB

HAFFX (3 SPDT)

M
NG RED
TOP o Ploft|
SWITCH BLACK o152
cEE BLUE oAl ]
NC NO RED o Tz
BLACK 1=
0|55
o2t BLUE ol [e]
MIDDLE NO NC YELLOW
SWITCH © Ofol7 1
WHITE 2
O|m |8
KOC BROWM Py
NO
f—-—-—- T [Olm 10
| SOLENOID g I ro]= 1]
BOTTOM ol ol [+
SWITCH ! VALVE I

%; GROUND

20
21
22
23

BRFX

PF NJ2-V3-N 30
Auronis PS17-5DNU31
PF NJ4-12GM-N
NBB2-V3

VALVES ACTUATORS AND CONTROLSYSTENS.

BAMEFF R
—AgEY
EiREUp-+100°C

-
~
w
~
3
3
2
IR X
PROXIMITY SENSOR
N BLUE
‘{0 0 e ola1] -
Ofol 1]
= rolo[z]
3
BLUE oy
BROWM Olo]4]-
olm[s]
z
PROXIMITY SENSOR  _ _ _ __ _ __ _ — o 6
BOTTOM ' OT‘_I—'O o s
SOLENOID A2
SWITCH | o=
. VALVE O] | 8

]
égl?OUND

b
<

16




EUROTEC [E{588

sssssssssssssssssssssssssssssss

WA
EPP/EPE/EVP/EVE EUROTEC WAVEZR%I[E/{S58
EPP EPE EVP EVE
bizea"
g5 ERREBIRER I HE FHESHERRREEER, SRREIRERIRESBEMEVestamidBE,
%58 30%IRIBLT RV ERBERG ¥BR,,  A55i¥1.4301 (AISI 304)
RESTE -25°C...+80°C -25°C...+70°C
BERHIRER IP67 IP66
FE sk BEM20*1.5@ERFER6MMEL2mmAJE L)
FiERE FLiEEE80*30 mmaEg&130*30mm 4HE208;30mm, ] i%FL (B E50*25mm
NEAIR TEIEZIR TR NMER SIBETRKEFIXFI21X
R~
{ n— —  — 7

\
J

A

60
)
7
\

‘
AN—

29
[39]

80

T/ :

[N ‘

19

130

] . © )

3D




ssssssssssssssssssssssssssssss

1/8” & 1/4”
/
2
m 034003| A1E130
3/2 12 10
31| |034025 A1E230
‘2
3/2 3 m L, |034004| A1E131
N3 0 |034040| A1E231
3/2 2 034005| A1E132
el 034024 A1E232
2
3/2 NC v L |034006] A1K130
111 |034039| A1K230
2
312 w 034007| A1K132
12 10
81 034023| A1K232
4 2
5/2 1 m]m " 034011| A1E150
*t* 1 |o34111] A1E250
1
5/2 42 034021| A1E151
513 034121 A1E251
5/3 s 034031| ALE170
513 034131| A1E270
5/3 42 034033| AlE171
“ ms o 1034133| A1E271
5/3 ﬂm 034032| AlE172
“ 5 %l 034132| A1E272
5/2 — 034012| A1K150
14 12
5113 |
" | |o34035| A1K250
52 42 034008| A1K151
14 12
513 034034 A1K251
5/3 plk 034009| A1K170
14 12
513 034037| A1K270
5/3 - 034010| A1K171
14 12
513 034038| A1K271
573 i 034013| A1lK172
14 12
513 034036| AlK272

ASA12

A122

Al E=

1=1/8"
2=14

30=3/2
31=3/2
32 =23/2
50 = 5/2
51=5/2
70 =5/3
71=5/3
72 =5/3

EX

94/9/EC - ATEX

C€ & 11 2 GDcT5

1~10bar |5/3=25~10 bar

-10°C ~ +60°C

6.5 mm

650 NI/min 6 bar P 1 bar

1.5 bar : 1.5 bar
B NBR




ssssssssssssssssssssssssssssss

Al

1/4”, 3/2 - 5/2, NAMUR ,

|

3/2

b @w 034059 | ALINE230

3/2

v m 034060| ALNE232

52

A EM 034057| AINE250

5/2

« /DI |osa0ss| ang2s1

ASA12

94/9/EC - ATEX

C€ & 1 2GDcT5

A122

NE= NAMUR

2=1/4"

NAMUR

30=13/2
32=3/2

50 = 5/2

51 =5/2

1~ 10 bar

-10°C ~ +60°C

7 mm

1.000 NI/min 6 bar P 1 bar

1.5 bar 1.5 bar
(NBR)




r-v

VALVES,ACTUATORS AND CONTROL SYSTEMS

Copyright by -V



